MEFM 1PI Southwood Secondary School
MATHEMATICS Practice Exam 3

UNITS 1,2: Integers, Graphing, and Relations

1. Fill in the blanks. a) The y co-ordinate of (-5, 4) is

b) (=3, -7) lies in quadrant

2. Rewrite this list of integers in order from smallest to largest: 0, 15,-9,-13, 6, -10, 4

3. Evaluate. Show all BEDMAS steps.

a) —6+(=3)-(-7)—-4 b) —20+15+(=3) ) 3(-2+6)*—2(-4+5)

4. Evaluate the following for: x =-2, y=-3. Show your substitution and steps.

4y+x3

5. State whether each is linear or non-linear.

AR

a) y=2x*-1 b)




6. a) Complete the following tables. For Finite Differences.
b) State the type of relation. ( Linear or Non—linear)

i) Difference in
X y
—values
-3 -11
-2 7 Type of Relation:
-1 -3
L

7. 1) Complete the table of values.

SHOW ALL OF YOUR WORK. OO 0 O O

i) Graph on the grid provided. Label the grid fully. B h
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UNIT 3: Algebra and Equations

L. Simplify. IR RN
a) —6x—-T7+5x—-4 b) —3(4-5x) c) 3(x—1)-42x+1)

2. Solve. Show all steps.

a) —6x+5=-13 b) 3x-20=8+ 5x



c) =3(x—-4+2(x+3)=9-16

3. Use the Pythagorean Theorem to determine the length of each unknown side.
Round to 1 decimal place if necessary.

a) b) A 6
y 12

X

10

UNIT 4: Rational Numbers

1. Evaluate. Leave your answer as a fractions in lowest terms

1 2 5 (-3
» 311 » 33



UNIT 5: Slope and Applications

1. Fill in the blanks.

a) If y= —%—2-x —9 state the y—intercept , and the slope

b) If a line has a slope of 4 and a y—intercept is -5, write the equation.

2. Find the slope of each of the following. State the formula used.

S P S S SN SR NSO SO TN
6 . I D
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b) (6,~1)and(-4,4)

3. When taking a taxi, the cost ($) is determined according the formula C =3.5d +7
where C is the cost in dollars and d is the distance traveled in kilometers.

a) State the slope with units.

b) What does the slope represent in words?

c) State the y—intercept with units.

d) What does the y—intercept represent in words?

e) Sketch a graph using slope and y—intercept.




UNIT 6: Geometry

1. Fill in the blanks.

a) Opposite angles are

b) An obtuse angle is

2. Determine the value of the unknown(s) in each diagram.

a)
135°
y
X = y=
UNIT 7: Measurement

State any formula used. Round all answers to 1 decimal place.
Use your ©t button or 3.14159  Include the correct units in your answer.

1. Determine the area and perimeter of the figure to the right.

2. Determine the volume of the figure to the right.

b)

28 cm

95°
x YNZ 60°
X =
y=
=

38 m
18 m
10 m
18 cm
/ /'8 cm



UNIT 8: Ratios and Proportions and other stuff

*Show full solutions as done in class*

1. The ratio of boys to girls is 12:11 at Southwood Secondary School.
How many girls are there if there are 421 boys? (Answer to the nearest girl)

2. In 5 minutes, a student can type 107 words. Suppose she continues at this rate.
How many minutes does it take her to type 2500 words?

3. State the unit rate. Circle the one that is the fastest.

A: 1250 km in 6.5 hours B: 950 km in 5 hours

Unit rate = Unit rate =

4. A store is selling skates at a 30% discount. The regular price is $195

a) Calculate the discount. b) Calculate the sale price.
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X 4
1. Fill in the blanks. a) The y co-ordinate of (=5, 4) is ""

b) (-3, —7) lies in quadrant 3

2. Rewvrite this list of integers in order from smallest to largest:

0,15, 9,15, 6, 40, &
~13 : -lo’

-9.-v. 0o, 6  Is

3. Evaluate. Show all BEDMAS steps.

a) —6+(-3)-(-7)-4 b) —20+15+(-3) c) 3(—2+6)2—2(—_i_t_5)
= = 6-3+%F -y

2
: —20-% = 3(u) -2(D
: =13+ = Ay = NG) - 20)
s - (o = o ?"' A
= o
4. Evaluate the following for: x =-2, y =-3. Show your substitution and steps.
4y+x3

= q(-3)+ (-2

7 H(-3) + (~1)(2)(2)

-

-l -9
= ~ 270

5. State whether each is linear or non—linear.

a) y=2:821

b)

Aon - | ireat

l"l’Q—Ar




6. a) Complete the following tables. For Finite Differences.
b) State the type of relation. ( Linear or Non-linear)

i) Difference in

X y
—values

-3 -11
—o

PR s
- N Type of Relation:

-1 -3
-

0 1

7. 1) Complete the table of values.
SHOW ALL OF YOUR WORK.
ii) Graph on the grid provided. Label your graph fully.

y=x2—5

Y s Y

UNIT 3: Algebra and Equations

1. Simplify.
S
a) —6x-7+5x-4 b) —-3(4-5x)
= — x-1\ = —jr ¥+t

2. Solve. Show all steps

~
c) 3(x—1)-4(2x+1)

= I x-2~-%x-Y4
: -STx-%

a) —6x+5=-13 b) 3x-20=8 +5x ‘_2‘\ _ 1?
_Cx+§-{“:~'}’( g,(-u,-y,(:‘a*’f’“r" -t -l
—Cx = —LE ~Ix-20+* ¥ X =1y
—G -G —2x =70428 = T+r20
X =2 —2x > 2%



A
c) —@4)+2(x+3)=9—16
— x4l P2zx=+G6 = -1

— X x5 -7}
— R K- 1T =TV %
T A

———— L

X =15

3. Use the Pythagorean Theorem to determine the length of each unknown side.
Round to 1 decimal place if necessary.

K za™ 4™
a) k": "L_‘L'\» b) A 6 N ~
y 12 v A 1 l;: N é"’ﬁ S
h =leo + R

R 3¢ = 16 + »*
10 I VI
A 316 et -16
NI ¢ o
L~ 16,6 :j ’ ]
Zo -z
4.C 7 X

UNIT 4: Rational Numbers

1. Evaluate. Leave your answer as a fraction. (No decimals!)

1 2 5 -3
a) §+(—1§] b) 7—(7) ©) (

¢ %8
: {»:-?:- s H - 5 <
3V s - - TR
Xy ’3 +F -3 ¢ 6
S T ST ¥ . 2%
I g -\ 6
- 16



UNIT 5: Slope and Applications

1. Fill in the blanks.

a) If y= —sz —9 state the y—intercept — q , and the slope K4

b) If a line has a slope of 4 and a y—intercept is —5, write the equation. __ A = "" X - 5

2. Find the slope of each of the following: <Y I
a) -6 e s o o b) (6,~1)and(-4,4)
-5 U OO 7-off OO O
M Slpe = 22
.2 4 | RN RS S R
e TESERNRE (1) =0
LR (-G
(\:\‘“: | = - - §7 ] - ‘
Sl T 3 7 e S T

3. When taking a taxi, the cost ($) is determined according the formula C =3.5d +7
where C is the cost in dollars and d is the distance traveled in kilometers.

g‘ 50 ‘/k?’oﬂfﬁ

a) State the slope with units.

.
b) What does the slope represent in words? C O S'L M ' k"* di\v-?!\

c) State the y—intercept with units. }

d) What does the y—intercept represent in words? 3“1/‘ ‘\‘n-q CDS‘. Q’ ‘|Zl ‘( Y

J
¢ “'Z'x.'

e) Sketch a graph using slope and y—intercept.

C




- UNIT 6: Geometry

1. Fill in the blanks.

eq veh

a) Opposite angles are

b) An obtuse angle is

2. Determine the value of the unknown(s) in each diagram.

a)
135°

5"3?; Yo 90° terr Hen [R0

95°

b)

A N2 60°
X350 - [%o-eo™¢"
g gtk '

o bo" ='F

=207 — 1g0°-60°

M E R ) 0

t |go°—1 35
UNIT 7: Measurement

State any formula used. Round all answers to 1 decimal place.

lotlo " 20 ¢m

{

Use your ©t button or 3.14159  Include the correct units in your answer. < »
1. Determine the area and perimeter of the figure to the right. 9
L A>S80 wr T A
A, = (X2} 38 m
A, =Hoo ~™ p > 3G+ lot+ 2o +LOHIE Ho -J_-__,
A"'—'(w)(\) p “‘olW .AL 18jm
: (e )C\o
Aol | |
k) = (60 mn 10m
2. Determine the volume of the figure to the right.
\] = (uJ A
18 cm
\J = (2D(E)C1E)
/8 cm
28 cm

| 3
V ZH032L em



UNIT 8: Ratios and Proportions and other stuff

*Show full solutions as done in class*

1. The ratio of boys to girls is 12:11 at Southwood Secondary School.
How many girls are there if there are 421 boys? (Answer to the nearest girl)

bmjg: s;h'r = lo.’g: 3.‘»'3’
la st = Hatax

I . u2t
T %

-

l%zn)% > .‘;:.;'-(qm/;v ! AGre are 366 gy
395.4 = ¥

2. In 5 minutes, a student can type 107 words. Suppose she continues at this rate.
How many minutes does it take her to type 2500 words?

ma'n sewards T mln twared y

4 % loF = X 2Lsoo

0w 2 - X (acm0)

(«+  2%0 = bt felo ler 1162
' l b . % = Y / M -'AUL )
3. State the unit rate. Circle the one that is th
C&_1250 km in 6.5 Four B: 950 km in 5 hours

Unit rate = _ 7lql' 3 ke k""r ' Unitrate= li?o kM/ A

4. A store is selling skates at a 30% discount. The regular price is $195

a) Calculate the discount. b) Calculate the sale price.

0% of $19F |95 -58.59

e ) - (3.
0% w3 L culo prie v $136.50
- ¢e.$

' d;I(ovl\"' X *gﬁg'{b
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